
C-Service 3

Boom extension, L=2347 L=2347

552421Model:F 105 S

552421 - Boom extension, L=2347 L=2347

Page 1 of 2 2012-12-04



C-Service 3

945655101  1Extension Schubarm

942306042  1Bearing plate Lagerblech

942306353  0Tight-fitting plate Passblech

942306004  4Bearing Lager

942306325  0Tight-fitting plate Passblech

676270706  1Fleyer chain Fleyerketten

676271087  1Clamp, assembly Klemme, komplett

676271168  1U-yoke U-Gabel

676271569  1Junction pin, assy Verbindungszapfen, komplett

9424151610  1Pin Zapfen

4602332411  1Self-locking hexagon nut M 24 8 Sechskantmutter, selbstsichernd M 24 8

4562370012  1Socket head cap screw M 8 x 80 12.9 Innensechskantschraube M 8 x 80 12.9

4602330813  1Self-locking hexagon nut M 8 8 Sechskantmutter, selbstsichernd M 8 8

5474213014  1Split pin 4x25 Splint 4x25

9423042515  1Bearing Lager

9423063416  0Tight-fitting plate Passblech

9424166717  1Shaft Achse

4799030018  1Hexagon slotted nut M 30 Kronenmutter M 30

5474330019  1Split pin 6,3x50 Splint 6,3x50

5406033320  1Washer M 30 Scheibe M 30

55.242.1  0Boom extension 1 No 105051-105324, 120051-120221Ausschubarm 1 No 105051-105324, 120051-120221

Pos Part No Description EN QuantityDescription DE

552421 - Boom extension, L=2347 L=2347

Page 2 of 22012-12-04


